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Ritp:/farbe i tu-berlin. de/BEXAIBEXAL ONA.TXT /.PS; start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

CIELABu4 standard lightness I*

* Yoc=Yw  nc=100,

I ciELAua =37 (YY) 1313 (Y,=18, ¥,/100Y<=Y,o)
I y(3,6)=26 1* ,(18)=50,1* (90)=121

I*6¢=121,15y=1,5, 14=1/1,5=0,66
1*16=50,00 $=36,98 D,=13,01
I* 3,625,63,,=50,00 Y=18

log[i* /1 ]=

1
1Y,=18
Yn=36 1 Yy=90

CIELABuU4

tristimulus value difference

YoemYw  nc=100,
I CiELABua =37 (YY) 1313 (Y,=18, Y,/100Y<=Y,0)
log(dY) = (1/1,5) log[1,5¢,/36)] + [1-(1/1,5)] logY)

dYgy-0,93,y=1,5, 14=1/1,5=0,60
dY;g=4,05 §=36,98 D,=13,01 1 application
dY36=2,36 Y,=18 d\=4,05 1 range
y,=18
Yn=3,6 1 Y\y=90

log (AY/Y) CIELABu4
S=(AYIY) tristimulus value sensitivity

Yoc=Yw nc=100
I cieLABua =37 (YY) 1313 (Y,=18, Y,/ 100Y<=Y,o)
log(@dY/Y)= log[L 5(1,/36)] - (1/1,5) log¥/Y,)
= (1/1,5) log[1,5¢,/36)] - (1/1.5) log¥)

application
405 dY,/Y,= 20,2253 1 2y fanee
(dY/Y}=0.0770y=1,5, 1{=1/1,3-0,66 ¥
(dY/Y)=0,2253 536,98 D,=18,01
(dY/Y}=0,6575 Y,=18, dY=4,0p
1Y,=18
YN=36 , Yw=90

CIELABuU4
tristimulus value contrast
Cr_(YIAY) Ync‘YW nc‘loo
I ciELABua =37 (YY) 1313 (Y,=18, Y,/ 100Y<=Y,0)
log(Y/dY)= - log[1,5(//36)] + (1/1,5) log{/Y,)
- (1/1,5) log[1,5¢,,/36)] + (1/1,5)‘Iog({)

I* =50, dY,=4,05 Y,/dY,=4

(YIdY)=12,97 - 2 /5, 14=1/1,540,66
(Y/dY)g=4,42 5=36, 98 Dy=13,01  application
(Y/dY} ¢=",52 Y,=18, dY;=4,05 range
'v,=18
Ya=3,6  Y\y=90

CIELABU4 relative standard lightnessI*/I*,
I Yoc=Yw - nc=100,

I* cigLagua =37 (YY) Y1913 (Y,=18, Y, /100<Y<=Y,)
1¥N(3,6)=26,* ,(18)=50,I* y(90)=121

¥ goll* =2 42 LS, 1§=1/1,5=0,66
* 1g/l* =1,00 $,=36,98 D,=13,01
* 3. _o 51 *,=50,00 Y=18

log[i*/I* ]=0, m,=0,49

log(AY/AY,) CIELABU4 relative

tristimulus value difference
NNy Yoc=Yw - nc=100,
I CiELABus =37 (Y/Y) 1313 (Y,=18, Y,/ 100<Y<=Y, o)
log(dY/dY,) = [1~(1/1,5)] loglf/Y,)

dYey/dY,=1,70,y=1,5, 1y=1/1,5=0,66
dY;¢/dY,=1,00 §=36,98 D,=13,01
dYs,¢dY,=0,58 Y,=18 dY=4,05

=50, dY,=4,05 dY,/Y,=0,2253 _

log[(dYY(dY),]=0, m;=0,32 . = -
- application
range

1y,=18
VN=3601 Y =90 W

log [(AY/Y) 1 AYIY),] CIELABU4 relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =Yy, =100

I ciLaBua =37 (YY) /E 2413 (Y,=18, Y, /100<Y<=Y,o)
log[(dY/V)/(dY/Y),] = - (1/1,5) log¥/Y,)

(dY/Ypo/(dY/Y ,=0,34,y=1,5, 1§=1/1,5=0,66

(dY/Y)g/(dY/Y)=1,90 §=36,98 D,=13,01

(dY/Yy d(dYIY =3, EXNSH dn:zt,osapplication
> range

I*,=50, dY,=4,05 dYu/Yu—0,2253 .
1v,=18

YR=3.67 Ya=90 T

log [(Y/AY) 1 (YIAY),] CIELABU4 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

I* cigLapua =37 (YY) Y1513 (Y,=18, Y, /100<Y<=Y,)
log[(Y/dY)/(Y/dY),] = (1/1,5) log¥(/Y,)

(Y/dYyo/(Y/dY)=2,92,y=1,5, 1§=1/1,5=0,66
(Y/dY)g/(Y/dY)=1,00 S§=36,98 D,=13,01
(YIdY)y g/(Y/dY)=0,34 Y,=18, dY=2,05 o

application
range

Y,=18
VNE3601 Y =90 T,

CIELABu4 standard lightness L*

L* Yoc=L*w - nc=100

L* cieLaua =37 (YY) Y5413 (v,=18, ¥, /100Y<=Y,,)
L*n(3,6)=26,L* ,(18)=50,L* (90)=121

L*g¢=121,15y=1,5, 14=1/1,5=0,66
L*15=50,00 $=36,98 D,=13,01
L*36=25,63,0%,=50,00 Y=18

BEX41-1A

logAY) CIELABu4
AY tristimulus value difference
Yo=L*w  ne=100,
L* CieLaua =37 (Y/Y,) Y1313 (Y,=18, Y,/100<Y<=Y,o)
log(dY) = (1/1,5) log[1,5¢,/36)] + [1-(1/1,5)] logY)

1
dYg5=6,93,y=1,5, 1¥=1/1,5=0,60
dY;g=4,05 §=36,98 D,=13,01 1 application
dY36=2,36 Y,=18, d\=4,05 1 range
y,=18
Ya=3,6 1 Y\y=90

BEX41-3A

log (AY/Y) CIELABuU4

tristimulus value sensitivi
S=(@AYH) YomL*w =100 4

nc’
L* CieLaua =37 (Y/Y) Y1313 (Y,=18, Y,/100Y<=Y,o)
log(dY/Y)= log[1,5(Y,/36)] - (1/1,5) log{/Y,)
= (1/1,5) I0g[L,5¢,/36)] - (1/1,5) logy)

application
. range

(dY/Ypg=0,0770y=1,5, 11,—1/1 5-0,66 o
(dY/Y)g=0,2253 $,=36,98 D,=18,0!
(dY/Y} 6=0,6575 Y,=18, d\=4.0p
1Y,=18
Yw=90

Yn=3,6
BEX41-5A

log (Y/AY) CIELABu4
C=(YIBY) g;nlﬁrl_rlulus Vilcu—el ggntrast
L* cieLaus =37 (Y/Y,) Y1313 (Y,=18, ¥,/100Y<=Y,0)
log(Y/dY)= - log[1,5(//36)] + (1/1,5) log{/Y,)
- (1/1,5) log[1,5¢,,/36)] + (1/1,5)’Iog({)

L* (=50, dY,=4,05 Y,/dY,=4

(YIdY}o=12,97.v <5, 14=1/1,540,66

(Y/dY)g=4,42 5,=36,98 D,=13,01 application

(Y/dY}6=1,52 Y,=18 dY=4,05 ! range
'v,=18

¥N=3.600 Yy =90 T

BEX41-7A

BEX41-7N

TUB-test chart BEX4; CIELABudl* & L* for Y/Y, with additional dataYh=(Y

CIELABU4 relative standard lightnessL*/L*
LHIL* Yoc=L*w - nc=100,

L* cieLapua =37 (YY) 313 (Y,=18, Y,/100Y<=Y,0)
L*\(3,6)=26,L* ,(18)=50,L*y(90)=121

L*go/L*=2,42,y=1,5, 14=1/1,50,66
L*1g/L* =100 $,=36,98 D,=13,01
L*3 ¢L¥,=0,51,L%,=50,00 Y=18

log[L*/L* ,]=0, m,=0,49

application
range

1y,=18
NN=3601 Yw =90l

BEX41-2A
log(AY/AY,) CIELABU4 relative
AYIAY tristimulus value difference
u Yoe=L*w - ¢ - n=100,
L* cieLapua =37 (YY) 1313 (Y,=18, Y,/ 100Y<=Y,0)
log(dY/dY,) = [1~(1/1,5)] loglf/Y,)

dYey/dY,=1,70,y=1,5, 14=1/1,5=0,66
dY;/dY,=1,00 §=36,98 D,=13,01
dY3,¢dY,=0,58 Y,=18 dY=4,05

application
nge

1y,=18
NN=3601 Y =90 T

BEX41-4A
log [(AY/Y) | (AYIY),] CIELABUA relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* cieLapua =37 (YY) 1313 (Y,=18, Y,/ 100Y<=Y,,0)
logl(dYM)/(AY/Y),] = - (1/1,5) logl/Y,)

(AY/Ypo/(dY/Y = 0.34=1.5 1§=1/1,5=0,66

(dY/YYg/(dY/Y)=1,90 236,98 D,;=13,01

(dY/Yy d(dYIY =3, 93X E18 (=405 5 i
N range

log[(dY/YY(dY/Y),]=0, m;=—0,66 B O .
L* =50, dY,=4,05 dY,/Y,=0,2253 : e
1y =18
Ya=36  Yy=90

BEX41-6A
log [(Y/AY) I (YIAY),] CIELABU4 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nC
L* cieLaBua =37 (YY) 1313 (Y,=18, Y,/100<Y<=Y,0)
log[(Y/dY)/(Y/dY),] = (1/1,5) logiY/Y,,)

(Y/dYbOI(Y/dY), 2, 92 r1,5 1xr1/1 5=0,66
(Y/dYYg/(Y/dY)= ,98 D,=13,01
(Y/dY, d(Y/dY o 34 Yu 18 dY=4, 05 4

application
range

Y,=18
NNE3601 Ya =90 T

BEX41-8A
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